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04 QIZFHALAIH B = 21,500 15,000 6,500
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Lo EsII2MEIAAE XA 511,246 511,246 0
= 320,462
< 68,757
s 122,027
101 @124l 453,896 453,896 0
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EX: Lol -&ots ot
R RN (F-EY
ol o= B (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 6,336
& 3,168
= 3,168
01 AP 22| d| 5,172 10,034 N4, 862
Ogte=2H| 5,172
—SHLO S2UN sSSANAE 29
5,172,000& 5,172
= 2,586
o=t 1,293
= 1,293
02 2%l 7,500 7,200 300
OAAEZH KXY 7,500
—SHEQ S22 =S AIAE KX Y|
5,0008 « 12504 ~ 12€ 7,500
= 3,750
& 1,875
= 1,875
LOESSSEAMUEAAMGXRA 283,370 283,370 0
= 198,359
= 25,503
= 59,508
301 LEtE A= 283,370 283,370 0]
= 198,359
= 25,503
= 59,508
01 Al B & A 462 283,370 283,370 0
OLosE2ssAHIAANY XIH(88YH)
265,479,000 265,479
= 185,835
= 23,893
= 55,751
OSIIIFAFAHIAASL R (35%) 17,891,000 17,891
= 12,524
= 1,610
= 3,757
Lol Tiel At 36,424 34,730 1,694
o=} 2,640
= 33,784
101 e1214| 15,864 14,170 1,694
04 JIZtHI22NEES 15,864 14,170 1,694
Ol XeIALY S SR Z=A 22 15,864
-Jl22 48,240 * 1¥H x 245 11,819
SasFLI2ReE 48 2402 + 18 * 55 2,654
—4UEE=2 13,500,000 = 0.103 1,391
206 M = dl 10,000 10,000 0
01 X2 Hl 10,000 10,000 0
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301 2ELE A= 10,560 10,560
2,640
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FHAW=S 10,560,000& 10,560

2,640
7,920
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403,870
121,161
282,709

MW

101 Q124 H] 389,990 389,990
194,995
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136,496

MW

04012t 22 S+ 389,990 389,990
Ol XtelAb el (200) 377,600,000& 377,600

188,800
56,640
132,160

HH W

11,990, 000& 11,990
5,995
1,799
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60
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1,800

3,000
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1,800
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307 2Iz2to| A 212,750 212,750 0
11 A EXAIEEX 212,750 212,750 0
OHsE2H HASTHIIEQ AAIHIEYE ALY
3,5008 * 230¥ * 260 209,300
OAMAIY T AlE 2¢ 15,0008 * 230H 3,450
LOIHEXNE XS 159,006 169,006 A 10,000
& 49,915
= 109,091
301 LBt A= 62,960 62,960 0
&< 18,387
= 44 573
01 Al B & A 46 2 49,290 49,290 0
orogs8x) X3 150,000 * 41H 6,150
& 1,845
= 4,305
OLQIJIEANO X& 60,0008 = 7199 43,140
& 12,942
= 30,198
11 JIEtE A= 13,670 13,670 0
LOIPC(QIE YN R AIZS
13,670,000 = 1H 13,670
& 3,600
= 10,070
307 2izto| A 96,046 106,046 A 10,000
& 31,528
= 64,518
11T AISIEXAIEEX 96,046 106,046 A 10,000
Onzssd 249 2,400,000 2,400
o= 600
= 1,800
OLoIIEE HAAY 19,200,000 19,200
& 1,150
= 18,050
OEZAME 24 otX S0l AFH (376YH)
74,446,000 74,446
= 29,778
= 44 668

LOITIZEAE=SXH 10,000 10,000 0
307 2iz2to| & 10,000 10,000 0
11T AISIEXAIEEX 10,000 10,000 0

OO ESAE2S KR (70H) 10,000,000 10,000
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el R e N 1,465 1,465 0
307 gl2tol & 1,465 1,465 0
01 2224l 1,465 1,465 0
Okorazatt 1,465,000 1,465
SHEQ MUa It Eel Dl 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
11T M SXAISE EX 15,000 15,000 0
OSHEQ Ma xtedEeld]
50,000& = 300 = 13l 15,000
L=ETAIE 24 X& 639,777 625,063 14,714
< 108,762
[ia 531,015
307 glz2tol & 122,618 625,063 A 502,445
< 20,845
s 101,773
10 AL SXAIEEE2EH EX 122,618 625,063 A 502,445
Okl z=XAE 248 XA
122,618,000& 122,618
< 20,845
s 101,773
308 XX EHSOIA 517,159 0 517,159
< 87,917
s 429,242
10 BJ12S0tetB XA 517,159 0 517,159
O3HuE= 517,159,000& 517,159
< 87,917
s 429,242
COAZAE 2HHXA 405,341 283,868 121,473
= 283,739
< 36,480
i 85,122
307 21201 A 405,341 283,868 121,473
= 283,739
< 36,480
e 85,122
10 ALSISXAIEEE2GHEX 405,341 283,868 121,473
OLQAZAIE 2LHl XS (1HL)
405,341,000 405,341
= 283,739
< 36,480
s 85,122
MIOtECI=XAE 29 1,093,237 1,102,994 N9,757
< 109,323
i 983,914
307 glz2+ol & 464,430 1,102,994 A 638,564
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10 MM SAANEEHESIHEX 464,430 1,102,994 638,564
OMIMI==XAIE XN 464 ,430,000& 464,430
o= 46,443
= 417,987
308 XX SHHSOIH 628,807 0 628,807
= 62,880
= 565,927
10 BI| 2 SH st A A e A 628,807 0 628,807
OLeZAIUYEE XXM B2
628,807,000& 628,807
= 62,880
= 565,927
LOIEXAIE SAKN = 288,600 288,600 0
= 144,300
= 144,300
307 QI2t0| & 288,600 288,600 0
& 144,300
= 144,300
10 A SXNANEEHESIHEX 288,600 288,600 0
OLoEXAYE EANSTE(111Y)
288,600,000 288,600
o= 144,300
= 144,300
Lo=sigesEa 120,765 111,965 8,800
201 et | 1,500 1,500 0
01 AP 2t 2] H| 1,500 1,500 0
Ogttf=24| 1,500
~OEXYR BH (ML HRS)
100,000& = 53| 500
—Jx=H2AMY &0 HE
50,000& = 20H 1,000
202 o4 H| 10,800 9,000 1,800
01 2Ll 10,800 9,000 1,800
Oko=2XNELEFX 150,000& * 6Y = 128 10,800
203 € R F&d| 2,500 2,500 0
03 AIEH =& H 2 F X Y| 2,500 2,500 0
OLQoI=2X A=A 250,000 = 1038l 2,500
307 QI2t0| ™ 105,965 97,465 8,500
03 AU EESIHES 53,700 43,200 10,500
Ost- oz &#EZXE AFEH K&
53,700,000 53,700
04 CIZ2tSHAFALS B X 23,040 23,040 0
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11T A EXAIEEX 29,225 29,225 0
Okolagdy 249 29,225,000 29,225
dzY 2gH X& 906,231 889,571 16,660
& 51,948
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= 274,321
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= 189,438
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11T A EXAIEEX 758,130 758, 130 0
OoZzd s&I| H&dl XN 758,130
— 22 S&ED| Hetdl X2 (4000HA)
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& 31,594
= 75,418
Aot B T2 )Y 29 50,000 50,000 0
307 2Iz2to| A 50,000 50,000 0
11 A EXAIEEX 50,000 50,000 0
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40,000,000 40,000
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Lo NARHEN 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
11T MISRASER 6,000 6,000 0
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d2Y g4d35 = 53,225 49,225 4,000
307 21201 A 53,225 49,225 4,000
11 ALSI =X 53,225 49,225 4,000
ozz¥ 2l X+ BH X 29,225
—Jla 23,400,000& 23,400
— 4L 2,225,000 2,225
— &3 300,000& * 12& 3,600
OL YAl ETEE NS
60,000& » 40074 & 24,000
SHke 23 83,900 187,400 A 103,500
< 15,000
e 68,900
307 glz2+ol & 68,900 85,400 216,500
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OsAHLE =A== DNE-
200,000 * 2874 A 5,600
10 AtSI = X1 Al 22X 63,300 79,800 216,500
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O=Hk HE 28
1,500,000 = 30H A 4,500
401 AIEHI 15,000 102,000 A 87,000
S 15,000
01 A& HI 15,000 102,000 A 87,000
OSHLAISHFAILE JIEIR=F
15,000, 000& 15,000
< 15,000
IOt XI& AL 67,200 58,740 8,460
201 ¢er24l 67,200 58,740 8,460
01 At 22/l 67,200 58,740 8,460
Oget=gHl 67,200
— X< G | X3 A
2,000& = 100 = 12& 14,400
—=AHALQ S = N A
5,500& = 800 = 12& 52,800
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307 21201 & 10,000 10,000 0
04 QIZHHALALH 2 £ 10,000 10,000 0
Odgz &I HolE=2Ua
10,000,000& * 1%l 10,000
zJl eANOEEWS 10,000 10,000 0
307 212t0l & 10,000 10,000 0
04 DIZHSHALALH 2 £ 10,000 10,000 0
OZ=+Jl =eA0EZSUE
10,000,000& = 13 10,000
olgiole JIE8 &AL 10,000 10,000 0
307 212t0l & 10,000 10,000 0
04 QIEHAALE 2 = 10,000 10,000 0
oogorg IS &AL 10,000,000& * 12l 10,000
CO=EXAIE 22 7,205,815 5,419,685 1,786,130
= 683,890
< 141,868
= 6,380,057
cosxza 23 554,450 417,007 137,443
101 Q124 H] 44,585 23,296 21,289
04012t 22 HsSE+ 44,585 23,296 21,289
Oko=Xsl& Alg 18,573
—JlzEa 48,2408 * 18 = 245¢ 11,819
—RE522R=E 48,2408 ~ 18 » 86¢ 4,149
—4AEEs 15,967,440% = 0.103 1,645
— =l 80,000& » 48 « 33 960
OSA A 19,413
—Jlzs 1,600,000& » 11& 17,600
— 428 = 17,600,000& = 0.103 1,813
Oko=Xs2 & &84
90,000% = 3 » 3¢ 810
Oko=Xsa Ag 48,240 = 48 » 30¢ 5,789
201 2Bt2 | 323,643 302,615 21,028
01 At2 22l b 206,608 185,580 21,028
OYstxgY| 33,358
~=AEX 2 D88 RS M
2,000,000& 2,000
—2+FSx a2 12,0008 * 70€ * 13 840
—ZA=SH NE uH 200,000& * 23 400
—MIARE FY(BE S)
200,000& = 53] 1,000
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—Leedd A= 120,000 * 43| 480
— &N 2 8,000& = 408 = 43| 1,280
—MYoI=E 7Y 2,450 = 20008 = 53| 2,450
—EAX7Y 500,000& = 23| 1,000
—&EARE U 7Y 300,000& 300
~EZ2Iu2Y MREE 7Y
150,000 * 43| 600
~E28 f02 Y A ME
300,000& = 43| 1,200
—AOHSA S) B4 HE
100,000& * 43| 400
—AN&E=S 23| 500,000& = 13l 500
— &= &aldl 50,000& = 304 = 12& 1,800
—goAs HE=z 150,000& =+ 53l 750
~ N HAE BA L 2TFAN 242
12,000& * 50& * 23l 1,200
—22AE 5 gat2te U =2
220,000 * 123 2,640
—ASAY EEFUBY 248
900,000& * 13 900
—FEIjO AR AR a4
230,000& = 12& 2,760
— 520 oEBR ASUH 42
100,000& * 123 1,200
— 520 EIJIEA =5  200,000& = 13 200
— SN 2RAZHAAE SAH|
180,000& » 12& 2,160
—UEE ZFH HolHAHA 2
25,0002 * 302 750
—St&a 2N ¥ MEN 2= ¥ 22l
175,000& » 12&8 2,100
— &= AI EH 2 100,000& * 33l 300
—ZeZSE EY JtECXN #¢
300,000& = 504 1,500
— &I EIIZ2AM =8
800,000& * 14 800
~SASHII24HE 7Y
18,000& x3 x 12& 648
O =Xz AZ2AY 29 78,000
—¥=7g 200,000& = 90X 18,000
— 24Hl S 60,000,000 60,000
OfIE8u=Hl 850
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ozg=¢ 88,400
—Lomagt
40,0003 = 2A12t = 8 = 103 6,400
— MOl / Ak Xt BF
40,0003 = 2A12t = 8 = 103 6,400
—SSuatt
40,0003 = 2AI2t = 8 = 103 6,400
—AHHA(EF)
40,0003 = 2AI2t = 8 = 103 6,400
—AHHA(EZ)
40,0003 = 2A12t = 8 = 102 6,400
— =Dy
40,0003 = 2A12t = 8 = 102 6,400
—gXNePDA
40,0003 = 2A12t = 8 = 10 6,400
— AZH =g
40,0003 = 2A12t = 8 = 102 6,400
— AP A
40,0003 = 2AI2t = 8 * 10 6,400
— g0l xe
40,0003 = 2A12t = 82 = 10 6,400
— E3E8 40,000 * 2AI2F = 82 « 10& 6,400
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40,000& * 2AI2F = 8 = 6 3,840
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40,0003 = 2AI2F = 8 103 6,400
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—Lo=sXg2 LAY 50,000& = 52¢ 2,600
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70,000& * 5% « 43| 1,400
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Ooul=l 6,000
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) 100,000& * 60H 6,000
02 =224l 117,035 117,035 0
O3 & HA 43,293,000& 43,293
OAl& & Hl s X bl 18,000
— ANdEssXaeldl 4,000,000& 4,000
—JIAHA & 2e=Xeld FA 22
1,500, 000& 1,500
—ANE=S &M 3,000,000 3,000
—HHHI Ha 2 M 2,000,000& 2,000
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— S (AR A) 1,684& * 60f * 55¢ 5,558
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202 O B 3,600 3,600 0
01 2L Y| 3,600 3,600 0
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206 M=l 15,446 14,296 1,150
01 &2 bl 15,446 14,296 1,150
Co=EXga s 29 Mg 7 7,000
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300,000& * 43| 1,200
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—-E2nd 2H (2= 5)
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—HsSRa 2H(HIsH ) 750,000& 750
— &AM 2,000& * 104 = 103 * 23] 400
OAMSA THER(HIS &) 250,000& * 43| 1,000
OZ4 HA2Rel A Mg 2 7,446
— A2l WA JtA 40,0008 *x 28 * 113 880
—2A2eluns AsSME 6,566,000 6,566
301 EtE A= 1,776 1,200 576
09 HAIAH EA=S 1,200 1,200 0
OAHHYA E=S, HOIEE &3 S A &It
20,000& * 60Y * 13 1,200
M IIEtE A S 576 0 576
Oaga 29 AHEBA 12,000& x4F=12& 576
401 Al B2 2 0HHI 148,000 43,000 105,000
01 A& HI 148,000 43,000 105,000
OAMAEHO2A WA 3,700,000& =40CH 148,000
405 XtabF SHI 17,400 29,000 A 11,600
01 AL =2 EF SHI 17,400 29,000 A 11,600
oMt oot Xt e
2,500,000& * 3CH 7,500
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ol H
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=
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Oaga AIREI 2 3,000,000& * 14 3,000
OEH 7L 1,500,000& 104 1,500
OumMI ¢ 800,000 = 1CH 800
O2cxzlN(2ERZI| S 48) ¢
1,600, 000& 14 1,600
O1& sS4 X WA 150,000& 204 3,000
SNAE =S 2,834,000 2,758,000 76,000
401 AIEBIZ 201 8I 2,834,000 2,758,000 76,000
01 A& HI 2,774,000 2,750,000 24,000
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